b =B HRA BREEE
0315 A = B U UB X $8,722,750
0315 1009951419& 0 A £ $6,436,102
0315 10099514160 A £ $3,100,073
0315 1009951451 =/ A+ $943,184
0315 1009951475 =/ A+ $739,729
0315 ZO0AT $582,600
0315 SARMBRAT $400,000
0315 2N NERKRNHEIRAT $370,374
0315 HER=#BIXESHLZE—F $358,226
0315 MEIEAFImA T EB S $350,000
0315 —HRERNABIRAT $300,000
0315 ~EZADEmROHARAT $300,000
0315 ZO0AT $289,750
0315 1009951474 =/ A+ $179,492
0315 XEH RN BERAT $144,888
0315 1009951485 =/ A+ $143,550
0315 1009951477 = A =+ $142,967
0315 1009951476 =/ A+ $101,294
0315 =HAKE $100,000
0315 SIERmKRNERATESE B $100,000
0315 MIREFEBRAT $80,823
0315 SE2MHEHELROHBRT $64,353
0315 HPZR2EE $60,360
0315 A58 B $50,000
0315 RAREIR B $50,000
0315 AR B $30,000
0315 SENEEHKNZ $27,580
0315 SEBmROBRATET $25,864
0315 MEXE B $20,000
0315 EHE® & $20,000
0315 BR=EXR A $20,000
0315 ERESRNHEBIRAT $13,296
0315 KZEEERNBIRAT $10,000
0315 miEERNBRAE $10,000
0315 MCE & $10,000
0315 FEBRAT $10,000
0315 =85z B $5,000
0315 ZO0AL $5,000
0315 RREE A $5,000
0315 =R B $5,000
0315 PREBE & $5,000
0315 MEH B $5,000
0315 REX B $5,000




0315 e $4,000
0315 REBEERAT $4,000
0315 MBS B $3,000
0315 AR B $3,000
0315 =5 B $3,000
0315 EMhZEEEE * $2,770
0315 BREX & $2,500
0315 FEk B $2,500
0315 TEW B $2,500
0315 HEE A $2,500
0315 HiNE B $2,000
0315 ATE A $2,000
0315 BB A $2,000
0315 FE & $2,000
0315 N $2,000
0315 ME A $2,000
0315 M= B $2,000
0315 BREFS B $2,000
0315 BEWN B $1,220
0315 TG RER TR TEE B $1,000
0315 RmE B $1,000
0315 ARF(MW+52 )5 A $1,000
0315 RTRE B $1,000
0315 AHEE A $1,000
0315 BEE & $1,000
0315 TR & $1,000
0315 =288 & $1,000
0315 MEBEE & $1,000
0315 A= B $1,000
0315 B B $1,000
0315 mERREFERAT $1,000
0315 B B $1,000
0315 HEE B $1,000
0315 mEEE A $600
0315 2PE B $500
0315 BRikES A $300
0315 =55 B $300
0315 BIEM B $250




